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oo Juem g Tivd B4, T e s ; 5 giiwm apta wiva o o et s
AgThe] SERAT UE AufzET uitem &a o gfeld) snigma st safieard diva sfy, 4 onfg o
JEAHZT T Tea 9| Famam wd Afteafes @asar areais g6 W 258 Jigsiat o $ SavaE 3
| e T g e Pt wh)

T e S19TEs i faeR AR 55w w0 u9d B

(1)
3

i gt @) el frew
=g =R (4) wE@ fEr

[Question ID = 94][Question Description = Q94_Maithili_SHAAN_NOV20_51]
1. 1 [Option ID = 373]
2. 2 [Option ID = 374]
3. 3 [Option ID = 375]
4. 4 [Option ID = 376]

3)

7 e TR erEe gl TR wmg Tveeeli TR g o sg-fawend vt (Reeew)® wmm
= T
AR S o it e wifEe A § fuvrs o g2 Jaie Srar e T © ;U am
AEFSes TET TEl HEa o Whd (D ; WETA a1 T At Wa engtes i, amte on miatasm
AT ggem e e A wme wied St St mee fen gw At 3R e o aves o A=
T A% Foa: o1 A9 HauT SuEica® Uer GOR &9 AR U Hhd 19 ; o7 Fiew a9 W =
g A UeEd TBd S a9 TEH SR HagH =hid S1d]

e Rt sl 75 et TR S TE-THE W SUREa W9 9 TE o9 e of e
ﬁﬁ'ﬂmm?ﬂ'ﬁqﬁﬁmﬂﬁ%ﬁﬁ?qﬁhﬁhﬁfﬁlﬁﬁlﬁﬁpoﬁﬁcaﬂycommittedmﬂh\ﬁﬁiﬁ
foom Juem sneg wivd 34, T Fougw s ; 5 g apta Tiva ofF o et s
TaThe] SER UE SEEwET ufte 3 i gigeE stepa siftes =ftardl wiva of, 9 onfg i
JEAHZT F Ted 9| Famam wa afteafes w@adar arkats e W 2isd| JigsiEt o § STEavEE 9
| e T g e fifga wh)

faams oo faum a2 sifs .

ey
(3)

WIS T (2) Hefies AT
HiEpie® AT @) sifg® smars
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[Question ID = 95][Question Description = Q95_Maithili_SHAAN_NOV20_51]
1. 1 [Option ID = 377]
2. 2 [Option ID = 378]
3. 3 [Option ID = 379]
4, 4 [Option ID = 380]

Topic:- 18MAITHILI_C
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1)

fdm ;i g ey ot o woeig TRl T den e ag-Tieend mE (o)
T FE

weier gl WAl wusd arte aifiem, gyafauE, Jo1, M senids W Ak B3| U e uvd
wfig | e git wea e WY 3 wer Y Tew) Ayelt @ v e oo ad e
wafs wai 3% ; awi 5 faen 9z wig v e a1t o Wi g TR wehl e T - gEeET
W T | FEET Wa g TR — U o a9 TREET o | g ariE Y Thehe dal 5|
g TETTE TR (A B T T g Al TUHth A SISl | MY wed 3w
TG ST T T AU S| T oree WSS AfY 99 o, a9l o, g oea § o1t 3
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7Y e o5 A 9T TS -
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3
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-
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[Question ID = 96][Question Description = Q96_Maithili_SHAAN_NOV20_51]
1. 1 [Option ID = 381]
2. 2 [Option ID = 382]
3. 3 [Option ID = 383]
4. 4 [Option ID = 384]

2)

fidm ;i ged ey ot ol weeg TRl T den e ag-Teend mE (o)
T HE

FAMEH 0 e Tuwn nfr Aftem, grfem, Jo1, S senfes T A B8 v See ud
wftg & s git wea s Ry g wer Y vew) el @ b e oe ad e
Tl FOR B% ; g 3 fao 55 Tyg e e afs) o i o venE e free T - A @
& T | A WAl § T - IS o a9 FRAE o | Fhg St ST T dat Sl
g TaTTT TR (AT A A T g A TuFth AT SISl | MY Fed 3w
TG SEH T T O Ti| ThE foEe Wes 79U oY o, ool o, g wRd 9 S19 3
formel| ww formet oeg wifeea At 9T whw| dEl e o o e e g, aifE wifeen dears @aa
N 9ig TES| FiF THEH Gowah vl d GF afs, ey aifee o1fER 3 w6 TS| aRa THEh A
FEA O WHS SUEE WIF S el U 9 U GEUG Wh| Wany Twrhiw dgrs ud e g wams
SRt STEIRIIRE 94 |

LEn I e e 1 e |
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3
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T3 oia (4) T=F =

[Question ID = 97][Question Description = Q97_Maithili_SHAAN_NOV20_51]

oW

3)

. 1 [Option ID = 385]

2 [Option ID = 386]
3 [Option ID = 387]

. 4 [Option ID = 388]

fw . P g eamgEs i uEd gy yveiEes ST el o wg-tawend wal (Reen)w
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S SR IS S O RS R N RS Y W
T FER 3% ; gl 3 Fa 93 wig e e oifs) o o o T Taeh fome T - SeiEw T
ifear w5 TEITEAS FE g BIF - TN o 901 FRANY ool g aiwliE s geebmor g5 9l
ufliig W@ TR T e B TR e Wigs 19l Bu de, q9el o, e Wisd § 9 8
foraet| an foae awg aifee A vu o) oy S oo 3 e e w, A wiven s a@a
AT Wl TS| Tk THh Terwas ged A aifs, g o st a5 w0 9| g THE S
Tl N THS TEH W S FA UF T UG I ©F| WIS THEE Hglih 9d P wema
FTERT TR Ua |

TeRl TR dgTi-ae ua o
IS 1Y (2) =AEEIE 98
IC I (4) AT U

[Question ID = 98][Question Description = Q98_Maithili_SHAAN_NOV20_51]
1. 1 [Option ID = 389]
2. 2 [Option ID = 390]
3. 3 [Option ID = 391]
4, 4 [Option ID = 392]

4)

fdm ;i gEed ey ot o wweig avareRfi T den de ag-Teend mE (Reeew)w
T HE

FAMEH g8 P Tuw nfr Afte, grEiem, o1, S SNt T A B U Sge Il
wftg | ararerors git wua e WY 3 wer Y Tew) el @ verhe e oo ad wem
wafs wait 3% ; gai 3 faen 9z wig v e A1t o Wi g TR vl e T - gEeET W
A FUF | HAEE Tal g T — TN oI 991 FIOART < | BRg SRl w9 T el Sl
g TaTTE TR (A B T T fhg Al T9% AT SIS | NYEE wed 3w
Tfig TTF T T B Ti| ThEE foEe Wes 79U T o, gl o, g wRd 9 S10% 3
foraet| aw fomge avg AfEc 7f v wHs| aEE e od X fome T g, o wifgen d9as g
AN 9 TS| FAIF THEH Gowah vl d JF afs, g aifee oAifEn 75w TS| aRa THEh A
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[Question ID = 99][Question Description = Q99_Maithili_SHAAN_NOV20_S1]
1. 1 [Option ID = 393]
2. 2 [Option ID = 394]
3. 3 [Option ID = 395]
4. 4 [Option ID = 396]

3)

fim : g emyds Uit ol Wi TRl IR g o sg-Tmend wEt (Reee)®
T TE

wFeTue g WA TN oTire wTfiem, grafaym, Jox, amy senias T AR TS| TR seen g
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[Question ID = 100][Question Description = Q100_Maithili_SHAAN_NOV20_S1]

1. 1 [Option ID = 397]
2. 2 [Option ID = 398]
3. 3 [Option ID = 399]
4, 4 [Option ID = 400]

Topic:- General Paper_Set1_A
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1) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together is 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distrabution of Workforce of India

Employment Sector

Workforce of India

Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% 8.2
Sales (SA) 12% 5:3
Construction and Maintenance (M) 9% Bid
Professional (PR) 18% 5!
Management (MA) 21% 3:4
Production and Transport (PT) 19% h:3
Others (OT) 6% 3:68

Frefafan often W fiem Hif fomd o & 3g 99 9 toem # fafim &m0 4 wwa & Fesa = wfoea
(%) o a1 gEu-afEen e oUW qmta T 2wyl EEl % P wEwe B e 80 9| 2|

ifersT § T8 T STEST F STHR W 9T & o i)

A * RS 1 &
TR H7 & I o Frfere
st (%) TR | g9 -Afgen orgu@ (30 )
Ta (7™ §) 15% 3:2
Tew (TG U) 12% 5:8
Fomtor 3R orRawr (i ) 9% 5:4
e (W IR) 18% 5:7
TEEA (T U) 21% 3:4
Ieurea iR ufass (4 ) 19% e
A (3 ) 6% 3:b

What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)

(1) 6.39 lakhs (2} 4.69 lakhs
(3) 5.96 lakhs (4) 7.48 lakhs

qeft =t = e 5 Srew i oftea gea 991 27 (S9med % 31 9T a)

(1)  6.39 @@

(3)  5.96 AT

(2) 4.69 9™

) 7.48 9@

[Question ID = 2007][Question Description = Q01_GP_20N0V_S1_SHAAN]

1. 1 [Option ID = 8025]
2. 2 [Option ID = 8026
| 3. 3 [Option ID = 8027]
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| 4. 4 [Option ID = 8028]

2) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: F)
Service (SE) 15% 3:2
Sales (SA) 12% b:3
Construction and Maintenance (M) 0% biid
Professional (PR) 18% 61T
Management (MA) 21% 3:4
Production and Transport (PT) 19% 538
Others (OT) 6% Jib

Trefafign wifve w faem Fifie e o e ge ot = tovm & fafhe gat 4 awa 6 weise = i
(%) T a1 TEy-ufeen FEEe SEUE qmiE T &1 9l &9 % Fa hEed B @ 80 9 2l
arfersst o 138 T4 3RSl % YR 9T YT % 39 4]

I % FHEEe T AFar G
TR, oh1 &5 G o1 HHa
gt (%) forawor | ge9-ufgen sgo@ (g9 )
¥ (T 3) 15% 3:92
Tow (T T) 12% 5:3
Fmtor 3ii seaor (it ) 9% 5:4
e (f AR) 18% 517
wereA (T ) 21% Fad
IeaTea 3R ufesa (d &) 19% K
a4 (37 &) 6% 3:5
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The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM

sector?
(1) 330% (2) 318%
(3) 320% (4) 80%

wg § o f o & ¥ weRa ufeen wEEe i Fo gem @ w7 § FERa g1 FEed il qeE =

foram oA 27

(1) 330%
(3) 320%

(2) 318%
(4 80%

[Question ID = 2008][Question Description = Q02_GP_20M0V_S51_SHAAN]

1. 1 [Option ID = 8029]
2. 2 [Option ID = 8030
3. 3 [Option ID = 8031]
4. 4 [Option ID = 8032]

3) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together is 80 lakhs. Based on the data contained

in the table, answer the question :

Sactor-wize Thatmhntion of Wovlcfaree of Tndia
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Employment Sector

Workforce of India

Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% 32
Sales (SA) 12% 513
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 517
Management (MA) 21% 3:4
Production and Transport (PT) 19% g
Others (OT) 6% 3:68

Frefafan ofte W fiem Hift fomd o & 3n 99 9 oem % fafiw om0 4w & Fesa = wfowa
(%) o Qo gE9-ufEen e oUW g T 2wt el % Fa wEes H e 80 9| 2|

aifersmt § 13U 0 STRET & SR W 9T % I9L S

I % el w1 @y o
TR 57 & I o1 Frdere
stca (%) T | gea-wfgen ogu@ (J: 7 )
Ta (T 3) 15% G2
ew (Tg ) 12% 5:3
fomtor 3R orRa (i o) 9% 5:4
e (W 2TR) 18% 5:7
EEA (T U) 21% 3:4
Iearea iR ufass (4 ) 19% 5:8
A (3 &) 6% 3:5
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The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of

workforce in PT sector?
(1) 82% (2) 87%
(3) 89% (4) 85%

TH U 3R TN T & ° HEd 9% BEEd H FA G 6 f 49 § T HEee 6 fe Gea FOeTET

o wldwa 27
(1) 82%
(3 89%

2 87%
4) 85%

[Question ID = 2009][Question Description = Q03_GP_20M0V_S51_SHAAN]

. 1 [Option ID = 8033]
2 [Option ID = 8034]
3 [Option ID = 8035]
4 [Option 1D = 8036]

B R L ]

4) Consider the following table that shows the percentage (%) distribution of workforce of India

and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together is 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% 37
Sales (SA) 12% 5:8
Construction and Maintenance (M) 9% 5:4
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Professional (PR) 18% 517
Management (MA) 21% 3:4
Production and Transport (PT) 19% B3
Otheyrs (OT) 6% 3:68

freferfiaa arfersm w0 fiem e foowt o 7@ g o9 9 TR & faftw &t 4 wwa & Fesw = sfaea
(%) o Qo gE9-ufEen e oUW qmE T 2wt el % Fa wEes H e 80 9| 2|
ifeTT ° T8 T STEST 3 STHR W 9T o o i)

Td % A H1 & foawor
TR 57 & I < Frfere
stca (%) T | gea-wfgen ogu@ (J: 7 )
Tar (T 3) 15% 3:2
Tod (Tg ) 12% 5:3
fomtor 3R orRar (i ) 9% 5:4
TR (1 2TR) 18% 5:7
TEEA (T U) 21% 3:4
Ieurea 3R ufas (4 ) 19% BsB
A= (3 &) 6% 3:b

The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce

in PT sector is :
(1) 5.1 lakhs (2) 7.5 lakhs
(3) 5.7 lakhs (4) 13.2 lakhs

TH T 3 TH T & § FEAA Afeell FESE i o aear o 91 F 47 | Fea Aften sRga d 7 w5

¥ Fraar 27
(1) 5.1 & E (2) 7.5<@
(3) 5.7 @@ 4) 13.2 @rg

[Question ID = 2010][Question Description = Q04_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8037]
2. 2 [Option ID = 8038]
3. 3 [Option ID = 8039]
4, 4 [Option ID = 8040]

5) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together is 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% 37
Sales (SA) 12% 5:8
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 543
Others (OT) 6% 3.5

Frefafan ofee W fiem Hift fomd o & 3n 99 9 toem # fofiw omi 4 wwa & Fesa = wfoea
(%) T o YEu-AfEen Heiee oTuE w2 't & % P wEee S sem 80 @ 2
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dMei=hl H TaE MU HAFDhS] =6 TN U MY =h 379% gINY|

Td % A 1 & foawor
TR 57 & I <1 Frfere
stca (%) fom | gea-wifgen ogu@ (37 )
Tar (7@ 3) 15% 3:2
e (TE T) 12% 5:8
fomtor 3R 2rRar (i o) 9% 5:4
THIE (M $TR) 18% 5:7
TEEA (T U) 21% 3:4
Iearea 3R ufass (H 3) 19% G:B
A4 (3 &) 6% 3:5

What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT
sectors put together?

(1) 17 : 39 (2) 16 : 37

(3) 16 : 35 (4) 16 : 39

Ht T &9 § TERG Afeen HESd i I6A A 9 AR TE 3N &E § HrRd 95 S $i fel Qe &6

ST o 27
(1) 17: 39 (2) 16:37
(3) 16 : 35 (4) 16: 39

[Question ID = 2011][Question Description = Q05_GP_20NM0V_S51_SHAAN]
1. 1 [Option ID = 8041]
2. 2 [Option ID = 8042]
3. 3 [Option ID = 8043]
4. 4 [Option ID = 8044]

Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

AL 5 p TR gea SR mR TR gee 1 TTed F IR 36 Sqaredd gl T BT 2 7
(1)  wid &R’ (2) FET W

3) HE®X (4) wErE fFm T

[Question ID = 2012][Question Description = Q06_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8045]
1)

[Option ID = 8046]
3.3

[Option ID = 8047]
4. 4

[Option ID = 8048]

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which
among of them fall in the domain of behavioural competencies?

(A} Self efficacy

(B} Planning

(C) Locus of control

(D) Communicating

(E) Flexibility

Choose the correct answer from the options given below ;

(1) (A) and (B)

(2) (B) and (C)
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- (3) (D) and (E)
(4) (B) and (D)

frafafga 3= gfenfg st amaett 6it gt & % sroamm ged fafe ural % meam 9 faf=a e
T B 3% T S SeER 38 i Anad §) 39 A A d) @Ha SHegR AT % a2l 37

A)
(B)
©

M)
(E)

Hi= fau o famreut 4 @ T2l I 1 = il

(1)
2
(3)
(4)

SATeH - v (TW)
ERIED

T i witufa
oo

LRk

(A) 3R (B)
(B) 3R (C)
(D) TR (E)
(B) ¥R (D)

[Question ID = 2013][Question Description = Q07_GP_20NOV_51_SHAAN]

1.1

[Option ID = 8049]

2. 2

[Option ID = 8050]

Feih

[Option ID = 8051]

4. 4

[Option ID = 8052)

3) Match List | with List Il
. List | gives the methods of teaching in Institutions of higher learning while List 1l provides the techniques of increasing
effectiveness of the method.
List 1 Listll

Methods of teaching Techniques for increasing effectiveness

(A) Face to face interactive method

(I} Using Swayam and Moocs

(B} Open and distance learning method (I} Programmed instructional packages
(C) Individualized method of teaching (lll) Modular instructional material

(D) Online methods of teaching (IV) Reflective questions coupled with discussion
Choose the correct answer from the option given below ;

(1) (A)-(1), (B)-(I1}, (C)-(1NN), (D)-(IV)
(2) (A)}-Q1}, (B)-(V), (C)-(1), (D}-(I)
(3) (A)-(IV), (B)-(NI), (C)-(), (D)-(I)
(4) (A)-(11), (B)-(1), (C)-(IV}, (D)-(INI)

A1 % @ gef-11 & fras i) g=h-1 8 3= siftrm awenet o faao $i e 6 o€ €, o=k gt

I1 7 stferm faftrmt 6 wesfiad e $i ot & 08 )

(A)
(B)
(©)
D)

Hi2t v 7o famed ® o v I w1 9= Hihw

=it

Bragor it faftrn
HA-grH 1 Fafsharcaen R
Ty it gt aiftm fafty
foregor it e fafy

freror it ot B

I
U] SGH i dhATD
) Fa=9 AR gy & JEe
(AD) TR esTen Yot
(I1I) WTSYTR A arfi
(IV) wical % my-w1y e wwa
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1) (A-D, (B)-AD, (C)-ALD, (D)-AV)
@y  @-dID, B)-aAV), (O)-), (D)-(1D)
(3 A-av), ®)-d1D), (©)-an, (D)~
@ (@-dD. B)-D. (C)-AV), (D)-AID

[Question ID = 2014][Question Description = Q08_GP_20M0V_S1_SHAAN]
1. 1 [Option ID = 8053]
2. 2 [Option ID = 8054]
3. 3 [Option ID = 8055]
4. 4 [Option ID = 8056]

4) Given below are two statements

Statement (1) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and
abilities.

Statement (I1) : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement (1) and Statement (1) are correct

(2) Both Statement (1) and Statement (ll) are incorrect

(3) Statement (1) is correct but Statement (ll} is incorrect

(4) Statement (1) is incorrect but Statement (ll) is correct

w97 (D) : ITeifes afR wiftemman oo = wlienfei=l % T o s gmar & Sudt dimr W
ST e % e AR T S 2

e (I0) : Fegig =afeea wlam i nadm =afraa e et & e smr 3 o =
uT % gEeE @ IR ey 9 #)

SUUH U F A 5, A Eu U forvedl 0 B w98 SUgE ST W =99 St

1) w9 @ AR AD) 2 FwE 2
) =W @) 37K (II) 31 Tom B
3 w0 T 2, AR T (1) W R
@) = (D) 7eE 2, S w99 (00 95 21

[Question ID = 2015][Question Description = Q09_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8057]
2. 2 [Optien ID = 8058]
3. 3 [Option ID = 8059]
4. 4 [Option ID = 8060]

5) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R}.

Assertion {(A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes.
Reasons (R} : An effective instructional support system has to be linked with enhancement of learning conditions.

In the light of the above statements, choose the correct answer from the options given below

(1) Both {A) and (R) are true and (R) is the correct explanation of (A}

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) {(A) is true but (R) is false

(4) (A) is false but (R} is true

Hiol g Fom Rw e ¥ ©F afiEyR (Assertion A) % w1 1 fSfiga 2 @ g@u 3wk 1 (Reason R)
w7 H ;

AT (A) foreqor 1 analer i o H A sl weEar yonett @ ffEa v sftem gfommi
=1 SEAH & B

%1 (R) fordft ol foneror wemar wonedt =i siftem wfifeafet 4 gam % iy g3 S
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(1)
(2)
(3
(4)

[Question ID = 2016][Question Description = Q10_GP_20NOV_51_SHAAN]

g

(A) 3 (R) 91 @ex 2 3tk (R), (A) 1 adt ==rem 2|
(A) 3R (R) I @7 &, fF (R), (A) ) w&t = 78 2

(A) T 3, AT (R) 218 2|
(A) 37T 3, I (R) T 21

1. 1 [Option ID = 8061]
2. 2 [Option ID = 8062]
3. 3 [Option ID = 8063]
4. 4 [Option ID = 8064]

6) Which type of research encourages participant’s perspective?

(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

fopy s % Tiw § wigarfi-uldes = Deasa fen S 27

(1)
(3

[Question ID = 2017][Question Description = Q11_GP_20NOV_51_SHAAN]

T oy

STATETH Y

1. 1 [Option ID = 8065]
2. 2 [Option ID = 8066]
3. 3 [Option ID = 8067
4. 4 [Option ID = 8068]

(2) tfEthes my
(4) TETERE WY

prepp
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7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of
research?

(A) Descriptive method
(B} Experimental method
(C) Ex Post Facto method
(D) Historical method

(E) Exegetical method
Choose the correct answer from the options given below :
(1) (A) and (B)
(2) (B) and (C)
(3) (C) and (D)
(4) (D) and (E)

uitsreu afem fht afmfe o @t ofigf® = oafe % v 4 2l 3, o 6 F=fofea § @ & &t

] T LR &7

A)  TeeroTers

(B)  wEFTeRes fafa

(C) = fafy

(D) et f&fy

(E) =ameEes =iy

F= fou o fawedt § @ OF 3w w1 99 ST
1) (Q)IR®B

2 (B (C)

3  (© WD)

4 (D) #R(E)
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[Question ID = 2018][Question Description = Q12_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8069]
2. 2 [Option ID = 8070]
3. 3 [Option ID = 8071]
4, 4 [Option ID = 8072]

8) Match List | with List Il. List | gives steps of research while List |l provides technigues used.
List |  List Il Steps of research  Techniques used

(A) Problem formulation (I) Tabular and graphical representation of data

(B) Hypothesis making (ll) Drawing a subset from a larger set

(C) Selecting a sampling procedure (lll) Raising pivotal question in a field of enquiry
(D) Data Analysis (IV) Setting up relationship among variables of research

Choose the correct answer from the option given below :

(1) (A)-(ll1}, (B)-(IV), (C)-(N), (D)~(I)

(2) (A)-(1), (B)-(I1}, (C)-(lI1), (D)-(IV)

(3) (A)-(I1), (B)-(I), (C)-(1), (D)-(IV)

(4) (A)-(ll1}, (B)-(D), (C)-(I1), (D)-(IV)

g1 % o ga-11 1 fiers Fif) g1 8 oy % w1 vga 2, st geh-I1 6 399 gr1 W a1

Gin! geft-I1

T b =1 YT | A AT TR
(A) T i (I)  ATRS! o1 WrfUEs 3T AThE Tegdt
(B) fterewr fofor D) U FeTX YT ° Tl A A
(C) wid==a wfse =1 =7m (III) < 5 &3 ¥ e 99 33
(D) ATFgT Fwemor (AV) i < <Rl o= gew wfid e
e fau U faredl ® W WE ST 1 =99 iR

1)  (A)-dID). B)-aV), (O)-aD). (D)-(D)
2 A-D. B-AD, (C)-AID, (D)-AV)
(3)  (A)-dD, B)-1I), (C)-D). (D)-AV)
(9  (A-dID. B)-@). (O)-AD). (D)-AV)

[Question ID = 2019][Question Description = Q13_GP_20N0OV_S1_SHAAN]
1. 1 [Option ID = 8073]
2. 2 [Option ID = 8074]
3. 3 [Option ID = 8075]
4, 4 [Option ID = 8076]

9) Given below are two statements

prepp
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Statement (1) : There is no difference between format and styles of writing and referencing in a thesis and a research

article.

Statement (ll) : Research ethics and its observance is mandatory for all researches.

In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement (1) and Statement (ll) are true

(2) Both Statement (I) and Statement (Il) are false

(3) Statement (I} is true but Statement (I} is false

(4) Statement (1) is false but Statement (I} is true

= 5 wum fFe e 2

97 (D) U TE-TEY S ME-TT § due it g9edh % tawy ok Al & dw wR star 98
7 2l

%o (ID) : g Geiet Fiaerar 3T ggeh sueE g Tl o fere sifEE 21

ITUTH YA = A 1, A fou e et 1 @ @t s W wua e
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(1) =9 (D 3 JD) IF 7 3
(2) = @) 3R D) FF raes B

3 = ()= 2, dfth waE (D) 59 2

@)  FE Q) SEE &, A w9 (1) 99 2

[Question ID = 2020][Question Description = Q14_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8077
2. 2 [Option ID = 8078]
3. 3 [Option ID = 8079]
4. 4 [Option ID = 8080]

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : A research hypothesis (H1), has to be tested with the help of a Mull hypothesis called (HO).
Reasons (R) : Tenability of research hypothesis (H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both {A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of {A)

(3) (A) is correct but (R) is not correct
(4) (A) is not correct but (R) is correct

F= @t = g € v sfywes (ﬁssertionA)%mﬁmﬁ%ﬁaﬁmfﬂm@eamnﬁ

ey H .

TP (A) et miy ofereu (Hy) =1 Fassofa aferegr (Ho) R wgmar @ wdeor fen s

=Ry

FRT (R) : i aferew T (Hy) = aehanfa s s1figfe d@id €9 @ 78 6t s o=t 21

ST Y o e 1, 4 U e feredt O qeg IUIT ST A 94 ST

Q) (A IR R) AT G 2 @R R). (A) F W == 2

(2) (AR R) I FE 3, AR (R), (A) F T = = g
@) (AT, af ®) T 2

@ (@ =d R, S (®) W@ R

[Question ID = 2021][Question Description = Q15_GP_20N0V_S1_SHAAN]
1 [Option ID = 8081]
2 [Option ID = 8082]
. 3 [Option ID = 8083]
4 [Option 1D = 8084]

e B

11) Every year Press Council of India celebrates the National Press-Day on :

(1) January 30 (2) May 30
(3) October 15 (4) November 15

yiedta 9 ieg Tow a6 g Te feaw featafaa d | fre fof w5 w22

(1) 30 sFad (2) 30%
(3 15 3AFEH (4) 15 7%=

[Question ID = 2022][Question Description = Q16_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8085]
2. 2 [Option ID = 8086]
3. 3 [Optien ID = 8087]
4. 4 [Option ID = 8088]

12) Which Newspaper logo bears ‘‘Let Truth prevail’’?
(1) The Statesman (2) Times of India
(3) The Tribune (4) The Hindu

fopm THrERTR 1 - (M) "Let truth prevail” 87

1 2w (2) 2TEEE A greA
3 fafesm (4) gfeg
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[Question ID = 2023][Question Description = Q17_GP_20M0V_51_SHAAN]
. 1 [Option ID = 8089]
2 [Option ID = 8090]
3 [Option ID = 8091]
4 [Option 1D = 8092]

bl B

13) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The more performative broadcast is also more cohesive and popular, but owing to new media its effect is
decreasing.

Reasons (R} : Internet is tending to eclipse broadcast media,

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both {A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

= 3 Fua T ¥ u AU (Assertion A) % w9 # faflad 2 at ggu 3WF R (Reason R)
FEIH :

a1fireE (A) aAftrs wan (sigre) sasa i gafeedie i disia g 2, weg =3 fizm
) T8 T SOF U9 U2 @ 2

w0 (R) FER JERY (Siswne) Hitga W a2 Fi o1 WE 2

S HYA F e 5, T G T fasedt 0 @ @ S SR 9 il

1) (A 3 R) I G 2 =R R). A F wd =en B

@) (A SR @) A E, At ®), Q) B wd s T
3 (A g, df R) T TE R

(@) (A= TE 2, S R) wE R

[Question ID = 2024][Question Description = Q18_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8093]
2. 2 [Optien ID = 8094]
3. 3 [Option ID = 8095]
4. 4 [Option ID = 8096]

14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in
what way?

(A) For exploring the potential of Social Science methods.

(B) For providing training with a high level of entrepreneurial skill.
(C) For raising the standard of American Education System.

(D) For making assumptions that media have limited direct effect,
Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) {(A) and (D) only

FIOER % SUd ¥ 37 MUl Uiel Aeehies FRE TR ¥ TF R e 9 i wfed guv

(A) wum fome fafimt H amar i @ B@ % o)
(B) ¥= Tt safia siwe % @y winem 21 % fow
(C)  smfER =i fan gome = TR "9 % fom)

(D) T2 YR S9H % T R S = wed wwe diE B 2

H for o forkedi d W UwU SUET 3T 0 UET iR

(1) e (A) 3R (B)
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(2)  aw (B) s (C)
(3) AW (C) (D)
4  Fad (A) 3I(D)

[Question ID = 2025][Question Description = Q19_GP_20M0V_S51_SHAAN]
1. 1 [Option ID = 8097]
2. 2 [Option ID = 8098]
3. 3 [Option ID = 8099]
4, 4 [Option ID = 8100]

15) From the list given below, identify the Psychological barriers to communication
(A) Noise

(B) Invisibility

(C) Prejudice

(D) Disinterest

(E) Inattention

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) only

(2) (B), (C) and (D) only

(3) (C), (D) and (E) only

(4} {A), (C) and (D) only

fio & 7 gl § @ e £ wEEmie st A e S

EVIR
(B)  rE
©  yamg
D) Rty

(E) <m0 9 8

9 fau T e o 9 ud I 1 9 Fifew

() =+ (A), (B) 3R (O)
(2) == (B). (C) R (D)
® 4 (C). D) 3R (E)
4 F(A), (C) (D)

[Question ID = 2026][Question Description = Q20_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8101]
2. 2 [Option ID = 8102]
3. 3 [Option ID = 8103]
4. 4 [Option ID = 8104]

16) The average monthly expenditure of a family was Rs. 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months
and Rs. 5,000/- for the last 5 months of a year. If the total saving during the year was Rs, 5,000, find the average monthly
income of the family

(1) Rs. 3,000/- (2) Rs. 4,000/-

(3) Rs. 5,000/- (4) Rs. 6,000/-

T T4 % S0 U TRER W o7hd Wi 599 U 3 Worl § 4000 T, IUF I 4 Wer H 4500 T
R fim 5 WEFT 9 5000 T 97| AfE 3@ T % INE A g9q 5000 T off 47 3w gfEw At eiga
e e o ofi ?

(1)  3000/- = (2) 4000/- w3

(3  5000/- T (4 6000/- T0@
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[Question ID = 2027][Question Description = Q21_GP_20NOV_51_SHAAN]
. 1 [Option ID = 8105]
. 2 [Option ID = 8106]
. 3 [Option ID = 8107]
4 [Option 1D = 8108]

oL B

17) Find the average of all prime numbers between 70 to 90
(1) 76,5 (2) 98,25
(3) 55.7% (4) 56.7%

70 § 90 % o= = gyt T el % SAd SaE -

(1) 76.5 (2) 98.25
(3)  55.75 (4) 56.75

[Question ID = 2028][Question Description = Q22_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8109]
2 [Option ID = 8110]
3 [Option ID = 8111]
4 [Option ID = 8112]

oW =

18) By selling 33 litres of milk, one gains the selling price of 11 litres, Find the gain in percentage :

(1) 25%  (2) 50%
(3) 70%  (4) 80%

F MG 33 WX g9 9 W 11 SfeX 39 % oA gem F s @ oIfia wRar 21 afoma § @

&dlY -
(1)  25% (2) 50%
(3 0% 4) 80%

[Question ID = 2029][Question Description = Q23_GP_20N0OV_S1_SHAAN]
1. 1 [Option ID = 8113]
2. 2 [Option ID = 8114]
3. 3 [Option ID = 8115]
4, 4 [Option ID = 8116]

19) If the cost price is 25% of the selling price, then what is the profit in percentage?
(1) 4.26% (2) 5.26%
(3) 5% (4) 7.2%

o7 ol =g o1 e god sush Fsha gea 1 95% 2 At e A e o= 27

(1) 4.26% 2) 5.26%
(3) 5% (4 7.2%

[Question ID = 2030][Question Description = Q24_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8117]
2 [Option ID = 8118]
. 3 [Option ID = 8119]
. 4 [Option ID = 8120]

PR e e

prepp
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20) If someone sells an item at a cost of Rs, 1,200/- with a loss of 25%, at what cost she/he should have sold it to get a

profit of 30%?
(1) Rs, 1,600/- (2) Rs, 2,000/-
(3) Rs. 2,080/- (4) Rs. 1,560/-

72 is =afs el g =+ 25% ufawa i o & 39 1200/~ ot 4§ dwar 2 o 30% =1 @19 HAH

fore =@ =w =g = fw Fima = s= =i @ e

(1) 1600/~ = (2) 2000/- =3
3  2080/- ¥m @ 1560/- T3

[Question ID = 2031][Question Description = Q25_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8121]
2. 2 [Option ID = 8122]
3, 3 [Option ID = 8123]
4, 4 [Option ID = 8124]
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21) Which one of the following sources of knowledge {pramana) in classical Indian Philosophy is based on similarity of the
unobserved object with a known object?
(1) Arthapatti (2) Anumana

(3) Upamana (4) Unuplabdhi

79 YA v | yme w Fefatga § 8 S-G9 oWe atg S FRl {19 g 3 maEa )

AT 27
(1) vy (2) IgHA
(3)  swEA (4) IFaeley

[Question ID = 2032][Question Description = Q26_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8125]
2. 2 [Option ID = 8126]
3. 3 [Option ID = 8127]
4. 4 [Option ID = 8128)

22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration (upanaya)
(B) Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijia)

(E) Giving an example of the underlying rule (udaharana)

Choose the correct answer from the options given below :

(1) (D), (E), (A}, (C), (B)

(2) (D), (C), (B), (A), (E)

(3) (D), (B), (E), (A), (C)

(4) (D), (E), (A}, (B), (C)

I FeRATRe o TTER T 5 A H T 1 Gl 369 T 8 7

(&)
(B)
©
D)

(E)

Taramst fav o sqrEeor A wAEeT/ e o wE (30A)
HRO =1 H (87)

sAfiremon 1 fagt % = 4 gfe (Frem)
AfSeren =1 HYF (vfam)

fifea Fram @1 s 3 (33E)

Hi= fo o foereat 4 @ ot s W 9 Fifvw

o)
(2)
(3
®

(D), (E). (8. (C), (B)
(D). (C). (B), (&), (E)
D). (B). (E). (4), (C)
(D). (E). (4). (B). (C)

[Question ID = 2033][Question Description = Q27_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8129]
2. 2 [Option ID = 8130]
3. 3 [Option ID = 8131]
4. 4 [Option ID = 8132]

23) Which of the following schools of Classical Indian Philosophy reduce Sabda pramana

(verbal authority) to inference?

(A

(B)

(©
()

Nayava
Vaise sikas

Buddhists

Mimamsa
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[Question ID = 2034][Question Description = Q28_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8133]
2. 2 [Option ID = 8134]
3.

4. 4 [Option ID = 8136]

U YRAHE U 1 FA | WG W5g YA SR % IO A @ 7

@&

(B) duifiw

© g

D) i

(B)  =mabH/drme

Hi=t fau 7 famreul o 9 98l 3w 1w Hi
(1) e (B) ¥R (C)

2)  F (B). (C) IR (E)

(3) 9 (B) 3 (E)

(4 e (A), (D) I ()

(E)

Choose the correct answer from the options given below :

(D
2
(3)
4

Carvaka/Lokayvata

(B) and (C) only
(B). (C) and (E) only
(B) and (E) only
(A). (D) and (E) only

3 [Option ID = 8135]

24) Given below are two statements

Statement (1) : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence.
Statement (ll) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.

In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement () and Statement (ll) are true
(2) Both Statement (I} and Statement (ll) are false
(3) Statement (1} is true but Statement (I} is false
(4) Statement (1} is false but Statement (I} is true

Hr a1 v few o g

= ()

woH (10) :

IUUF FUT o ST |, A BT T e § ¥ wE IO o 99 it

(1)

)

(3)

Fom (D) &t (ID) 251 5 3
FoM (D) 3R (ID) 21 sTae 31

Fu7 (1) T 2, S F99 (1) 9 2|

et el T % AT AN W A B % o o B 2

s T F5 Tel sawdt & % 25 579 I9R & ST9AW o =1EY "ok aegd: I8
sl 2 2 29 F 1w e g
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(4) =9 (1) 39T 3, A A (ID) gea 2|

[Question ID = 2035][Question Description = Q29_GP_20NOV_51_SHAAN]
1.1

[Option ID = 8137]
2. 2

[Option ID = 8138]
3.3

[Option ID = 8139]
4, 4

[Option ID = 8140]

25) Match List | with List 1]

List | List Il

Steps of Argument Propositions

(A) Affirmation of the thesis as proven (I} Wherever there is smoke, there is fire as in the Kkitchen
(B) Statement of reason  {ll) There is fire on the hill

(C) Giving an example of underlying rule (lll) Therefore there is fire on the hill

(D) Statement of thesis to be established (IV) Becuase there is smoke

gefi-1 % @rer g=i-11 = frem fife)
-1 w11
% b =l RECICD]
(&) sfsraren =i s = w9 gf @ e gt a2 wE e A} S Wi
T
(B) =HIUT AT B D) wErg W A |
(C) Fafea Frm w1 sgEwr &0 (A1l safee vardl o 37 2|
(D) Tnfea = e sflirgron #1 w99 (IV) Wit I= usT B

= fau T faereul § 9 9 FuC T = R

1)  @A)-O, B)-AIDh, (C)-0V), (D)-(IL)
@ Q)-aV). B-dIh. (©O)-(D). D)-aD)
3  @-AID, B)-aAV). (O-(D). (D)-AD
@)  A)-dD, B)-{), (CO-d1D. D)-IV)

[Question ID = 2036][Question Description = Q30_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8141]
2. 2 [Option ID = 8142]
3. 3 [Option ID = 8143]
4. 4 [Option ID = 8144]

prepp
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26) An IT Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than

previous laptop models.

The technology that has been used to accomplish this, is :

(1) Faster RAM (2) Blu-Ray Drive

(3) Solid State Hard Drive (4) LCD Technology

w318 & Bl F T g us A wise H duer %1 i B 3 e e fage 6 gue gt 2 9w
I et Tueia Aisal i WU WPR | BT 3T 79[ 9 5 3

| T & fore fem gt = s fem T 27

Q) e (d@) W @ =g
(38) wite Wz 8 g (4) S A B ST

[Question ID = 2037][Question Description = Q31_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8145]
2. 2 [Option ID = 8146]
| 3. 3 [Option ID = 8147]
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| 4. 4 [Option ID = 8148]

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : Every general-purpose computer must have an Operating System (05) installed on it,
Reasons (R) : Man and Computer cannot communicate directly.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R} is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

= 2t = fiw U 2 ; o sifHEYs (Assertion A) ¥ 9 ¥ fafigg 2 @ THq 36 FFU (Reason R)
&0

3TTHF (A) : TG AT TASH Pl | U TR foen sTavas ¥4 © weutfud & =anau|

AT S FEA WY AR W enm § wang A W awd |

O (R) !

IUUTH FI & ST |, A 90 T fawmen § ¥ T8 ST H 99 it

1) (&) IR ®) I T W R), (A) F T = B

(2)  (A) 3T (R) 1 T B, wfHA (R), (A) Ft &t = 785 3
@) (IR, 9k R) 3 2

@ (A oE 2, A R) T3 2

[Question ID = 2038][Question Description = Q32_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8149]
2. 2 [Optien ID = 8150]
3. 3 [Option ID = 8151]
4. 4 [Option ID = 8152]

28) Identify the correct order of the following storage capacities ranked from largest to smallest capacity
(A) 1500 M Bytes

(B) 5 K Bytes

(C) 1 G Bytes

(D) 2 T Bytes

Choose the correct answer from the option given below :

(1) (D), (A), (C), (B)

(2) (A), (D}, (C), (B}

(3) (A), (B), (Q), (D)

(4) (D), (C), (A), (B)

gaU 91 U guh B Gudl + w0 ¥ Fefaigd wie auaiet 98 %9 i ggeE i)

A) 1500 M Bytes

(B) 5 K Bytes
{C) 1 G Bytes

(D) T Bytes

e fow e forreat | @ W s == il

1 DAL (B)
2 @, D ©O.B
3 @, ®.0©.D0O
@ D), ©).A). B

[Question ID = 2039][Question Description = Q33_GP_20NM0V_S51_SHAAN]
1. 1 [Option ID = 8153]
| 2. 2 [Option ID = 8154]

prepp
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| 3. 3 [Option ID = 8155]
4. 4 [Option ID = 8154]

29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :
Statement (1) : Wi-Fi has a shorter range than Bluetooth,

Statement (I1) : Wi-Fi can transmit data at a faster rate than Bluetooth.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (l) and Statement (ll) are true

(2) Both Statement (1) and Statement {ll) are false

(3) Statement (I} is true but Statement (ll} is false

(4) Statement (1) is false but Statement (ll} is true

e & Heag § fored sy i and-wd 2otert gt E, i g wem fag e

o (D) : -8 H I sy W FA Bl B
o (I) ; S-S % Wieue U sy i o 1 wften 9 4 A TaT A 1 T 2

ITUTH YT * 2w °, T8 B e e # 9 gl ser w999 il

1) e (D) ol @D A wea B

(2) = (1) 3 D 2 omwea B

(3) = (D) A 7, I w5y (D) 9 2

(4) =9 () o7 2, A w9 (1D T3 2)

[Question ID = 2040][Question Description = Q34_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8157]
2. 2 [Option ID = 8158]
3. 3 [Option ID = 8159]
4. 4 [Option ID = 8160]

30) Match List | with List 1l :

g=ft-1 % wr geh-11 1 firer <hife|
g1 -1
(ST gTiTier 9eg) (sPrtT)
(A) OCR (D a1 zafaflgs SRSl 1 TF B 5
fore saw &t 2)
(B) OMR A wz-frpedm wenet § o wem w9 % fom
T BT 3
(C) Email (I11) ST FegTHeH
(D) Instant Messaging (AV) GH=RITeTH %‘?ﬁjﬁ%‘ﬂq
= fau o fomred) 4 9 Ot s = === Fifw
(1) (A)-II), (B)-(D), (C)-(IV), (D)-(III)
(2) (A)-AI), (B)-D). (O)-1ID. (D)-IV)
&) (A)-@), B)-aAD, (C)-dID). D)H-IV)
(4) (A)-D), (B)-ID), (C)-(IV), (D)-(1I)
Match List I with List I1;
List I List I1

(Computer Terms) (Purpose)

= s -
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documents
(B) OMR (II) Used to mark  multiple-choice
examinations
(C) Email (II) Asynchronous Communication
(D) Instant Messaging (IV) Synchronous Communication

Choose the correct answer from the option given below :
1)  @)-adD, B)-@). (O)-AV). O)-A1I)
(2) (A)-AD, (B)-@). (C)-(11L}, (D)-(1V)
3  @A-O, (B)-dD, (O)-(ID), (D)-(IV)
@ @)@, (B)-dD. (O)-AV). D)-1II)

[Question ID = 2041][Question Description = Q35_GP_20N0V_S51_SHAAN]
1.1

[Option ID = 8161]
2. 2

[Option ID = 8162]
3.3

[Option ID = 8163]
4. 4

[Option ID = 8164]

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2) Methyl chloride
(3) Carbon dioxide (4) Methane

frafefigd @ o SiF-91 wF I = o FE G gmyd 20

(1) U IEATERES Q) Taorse weivss
(3) A SEAFERS @ e

[Question ID = 2042][Question Description = Q36_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8165]
2. 2 [Option ID = 8166]
3. 3 [Option ID = 8167]
4. 4 [Option ID = 8168]

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power
(3) Coal (4) Hydro Power

Frafafiga A @ S=F-w =1 gia g 9t s 98 27
(1)  sardig s (2) uEa Sl

-

(3)  wiEe (4) witagd

[Question ID = 2043][Question Description = Q37_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8169
2. 2 [Option ID = 8170]
3. 3 [Option ID = 8171]
4. 4 [Option ID = 8172]

33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?

(1) Earthquake (2) Volcanic eruption
(3) Epidemic  (4) Storm

feafafiga % @ -t yrepfas snaE e aed § ofi sud st | wE T 37

(1) (9) woHEEt R
(8) =Emdl (49) TEH

[Question ID = 2044][Question Description = Q38_GP_20M0V_S51_SHAAN]
1. 1 [Option ID = 8173]
2. 2 [Option ID = 8174]
3. 3 [Option ID = 8175]
4, 4 [Option ID = 8176]
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34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt. of India, stands for
(1) National Mission on Solar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem

(3) Mational Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey of Himalayan Ecosystem

NG WORR ] TieAviE #1241 % @2 § NMSHE S=fafga § & froem agmew 27

(1)
(2)
(3)
(4

National Mission on Solar-Hydro Energy
National Mission on Sustaining Himalayvan Ecosystem
National Mission on Sustainable Hydrogen Energy

National Mission on Survey and Himalayan Ecosystem

[Question ID = 2045][Question Description = Q39_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8177]
2. 2 [Option ID = 8178]
3. 3 [Option ID = 8179]
4. 4 [Option ID = 8180]

35) Which of the following pollutants have adverse implications for human health as well as climate change?

(A) Nitrogen dioxide

(B} Particulate matter (PM2.5)

(C) Ozone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :
(1) (B), (C) and (D) only

(2) (A), (B) and (C) only

(3) (B) and (D) only

(4) (B) and (C) only

fFrefofas # o fF gt = afge T A3 % TR ST ety ek T 9 B 7

(A)
(B)
(©
D)
(E)

ATFZISH SISATFTES
FOTHFR 99 (PMa.s)
A=

g

AEeE RS

9 fiu o e § 9 od s oW = AR

(L
(2)
(3)
(4)

e (B), (C) 3k (D)
9 (A), (B) ¥R (C)
%ae (B) 3t (D)
e (B) 31K (C)

[Question ID = 2046][Question Description = Q40_GP_20N0V_S51_SHAAN]

1
2
3.
4

. 1 [Option ID = 8181]
. 2 [Option ID = 8182]
3 [Option ID = 8183]
. 4 [Option ID = 8184]
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36) In context of Higher Education, Hon’ble Supreme Court directed which of the following national body/organisation to
frame and prescribe a course in Environment Education?
(1) UGC ; ; (2) NCTE

(3) NCERT ; ; (4) AICTE

I forear & @ o, 9FEdE s=an =EeE A gl e 4 o gegEsen dar 9 fFeife s+ R

Fretafga © @ fra voa Frem /wrea =t e G m?

(D
(3)

75t @ wHAS
o i I A (4 uIasH Az

[Question ID = 2047][Question Description = Q41_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8185]
| 2. 2 [Option ID = 8186]
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| 3. 3 [Option ID = 8187]
4. 4 [Option ID = 8188]

37) Match List | with List Il. List | names various organizations while List Il gives their location :

List |

¥

: ¢ Listll

(A) NAAC ; ; (1) Delhi

(B) NIEDA ; ; (II) Bengaluru
(C) NDRI ; ; (lll} Lucknow
(D} CDRI ; ; (IV) Karnal

A1 % wy gfl-10 = frem ifem
-1 gfi-11
@ weTH O e
B wWaRIdT 1) s
(©) wA S W AT () wgs
(D) = 2 s amd (IV) =

5 fou 7u faeredt & @ wd ST W A A

(L
(2)
(3
(4

(A)-(1I), (B)~IIL), (C)-(T). (D)-AV)
(A)-D, (B)-@). (C)-AV). (D)-1I)
(A)-A1D, B)-AD). (C)-(D). M)-AV)
(A)-IV). (B)-AID. (O)-(D. D)-D

[Question ID = 2048][Question Description = Q42_GP_20N0V_S51_SHAAN]
1. 1 [Option ID = 8189]
2. 2 [Option ID = 8190]
3. 3 [Option ID = 8191]
4, 4 [Option ID = 8192]

38) NEP-2020 proposes to establish NETF. What are the stipulated functions of this body?

(A) Articulate new directions for research and innovation in technology.

(B) Provide a platform for free exchange of ideas on use of technology to understand learning.
(C) Engage multilingual experts to help promotion of all Indian Languages.

(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
Al (Artificial Intelligence).

(E) Build intellectual and institutional capacities in Educational technology.
Choose the correct answer from the options given below :

(1) (A), (D), (E) only

(2) (A), (B}, (E) only

(3) (B), (D), (E) only

(4) (A), (C), (D) only

73 foren ity (v § 11)-2020 % @ 3 & v Fit 9O FE T @ 2| 39 FeEm % a2

(&) TRl E emmuE o TeTER 3 e Frw duw s

B wiftrm o wreR 2g NP 3 i % waw § R ¥ e srae-TaE g o A gk

(€ =t sl sl A s 23§ warrn dg agarh R A e we)

(D) Tawem TReAl, B o oA e ¥ e § Afves A W w3y SntEme
Sfersta =1 N @ Y A ST A

(E) e sienfiefy o i o wearma emanati 1 fmfor s

H9 fou e fweul ¥ O g W W WA Hifw

(1)

FFd (A). (D), (E)
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2  %ad (A), (B), (E)
(3) e« (B), (D), (B)
(4)  FaE (A), (©), (D)

[Question ID = 2049][Question Description = Q43_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Option ID = 8195]
4, 4 [Option ID = 8196]

39) Which of the following are e-learning platforms?
(A) SWAYAM

(B) PARAKH

(C) SWAYAMPRABHA

(D} DIKSHA

(E) MOOC

Choose the correct answer from the options given below :
(1) (A), (B), (E) only

(2) (A), (€}, (D) only

(3) (B}, (C), (D) only

(4) (C), (D), (E) only

Frefafea ¥ @ F9-9 s-wifarm 99 87

@) =

B) RLLC

(C)  Taaus

Dy <

E) TH

2 fau o fiedt € O wE SOx 1 oA A

(1) == (A), (B). (B)
(2) = (), (©). (D)
3) %= (B). (C). (D)
@ == (C), (D). (B)

[Question 1D = 2050][Question Description = Q44_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8197]
2. 2 [Option ID = 8198]
3. 3 [Option ID = 8199]
4. 4 [Option ID = 8200]

40) Which among the following goals adopted by the UN member States in 2015 is related to SDG-47?
(1) Good health and well being (2) Quality education
(3) Poverty alleviation (4) Industry innovation and infrastructure

W U F WaET 3 gR Y 2015 § woq I wer-4 @ weta Fetiaa § ¥ $e-a o ST

RIE IS
(1)  SO9 TAReT IR dgww (2) T e
(3) Tl S (4) TN EER TS STHEE

[Question ID = 2051][Question Description = Q45_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8201]
2. 2 [Optien ID = 8202]
| 3. 3 [Option ID = 8203]
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| 4. 4 [Option ID = 8204]

Topic:- General Paper_5et1_C
Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
vear, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of logs. But the pandemic is much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social. economic and political effects that will leave deep and
longstanding scars. UNDP is the technical lead in the UNs soclo economic recovery.
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion dechine in remitttances this year. which could mean 800

million people will not be able to meet their basic needs.

IS i GEYHYS® ¢ a9 36 18 76U T8 9% 1 I 2

FIAT TEE FITS- 19 HeMRI TH1 THF T 1YY 37T TR o iR fifta fragg & o i v=w
ol Kt 1 fet o o sifaw Bl F wRen d su sgwe % @ u aEw s w gisA Sew
ergM # A g 2| oW qF gE:g FIH 10 TRE AT I I T g & o ot Arear i @il
T SR AW I U8 W 8| g A TR TR e ¥ HE ofUT 2, A9 Th SUEE
wfam-atftls @z ft 2| 2m w1 uaw oahe zow wwitE 2 ok et amifes onfie ok
T g ugd T 3 Rk o o e e w O §) e ug s gt i afaafi
(ferall) 5 g @ S ff o aiihl e ToF AR W8, WY F Ae foma vane We % wedm 8 9 W@
= wedl gea B i 3@ W 3 A 7 Afvaw geam s fEem % v W ol 3 @ Eiee
AT o Aged § e g 21w e o et it of om e v 21 o 9 war B afifeat
w6 A g T | R g g gl % ged o wg-ge arll g ¥ siadde aw wen W
s 2 35 400 fafemm (40 =) @i i TiE S EEd B frm ds S At R s e
g=-teo; (fa) 4 110 faferm smich sen = =+t srufh) g sifime 2 B 500 fuferm (80 #ig)
<A AT g el W U e | g E g )

The major crisis faced by the world since World War Il is in which area?
(1) Industrial (2) Technological
(3) Communication (4) Health

facfar forgerrg = wig faza =1 asd sz de Poe &9 & s 27

(1) it (2) YR
(3) wER (4) @

[Question ID = 2052][Question Description = Q46_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8205]
2. 2 [Option ID = 8206)
3. 3 [Option ID = 8207)
4. 4 [Option ID = 8208]

2)

Read the passage carefully and answer the questions that follow -
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The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis, Stressing every one of the country 1t touches, 1t has the
potential to create devastating soeial, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost., The World
Bank projects a US 3110 billion declhine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

T TAGEF 9 T $HE a1 3T T 99 W IW 3

BT I FHifag-19 HEE THR W9F 1 QYA ARaH ween ghe iR fgdfa fwaag & o 6 v
a2 TN 31 T ad % sifam &1 5 ofmn § o 39wa % WY TE aERE HTERE T DITAR UoE
HEId ® %ot IR 3| o1 T q@E BT W 10 NG @ A I el g% & R gl wear B gl w6
TR WS S I IS @ 2| Wg AT WEWH WRE G U wEl oIfUE 3, AT U I
amfsE-oiw uwe f 21 W W TaT =t e IR 2 5o e genfaw oY ofm
THifo® T9E 139 T 8 S @ g aF TR feE w919 8 @3 Uy # amfs e afimfa
(Rerardl) o 3 w1 St ot w Tt e WaF @R @ 8, WY o I% favg Tare wee % ueEm U e ©
@R wedl ggal B ol 3@ w ¥ oaw u Afvew oedE et freem % owE W o g @ s
au=aae & Aged | s o w1 81 & 3 @ et Aefen ok e ar @ 21 e 8 wan e ufifeurfoEn
wd e 5o v )l e fiflw gl % ged ot wng-ge @l 92 3| addE 3w wned @
I 2 5 400 fafemm (40 =) i it Tiel s v B farm A% J R AT R B oTm e
g7-ta (ifem) d 110 Rfemn smieh swer F wh snof) gom sl 2 5 500 fafema (50 #Ug)
ST AT gRErE) sl W P R d awd TE g )

The pandemic has left which of the following area unaffected?
(1) Social (2) Economic
(3) Travel and tourism (4) Telecommunication

TEE W Frefetiad ¥ ¥ e o8 W W A8 ugi 27
(1) = (9) T

(3) I 3R 9 (4) FEAR

[Question ID = 2053][Question Description = Q47_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8209]
2, 2 [Option ID = 8210]
3. 3 [Option ID = 8211]
4. 4 [Option ID = 8212]

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the

tragic milestone of one million deaths. and the human family is suffering under an almost

-~ - - .=
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unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP is the technical lead in the UNs soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourisni, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

IS i GEUHYSS 9¢ a9 35 a1 76U T 9T 9 I 2

FIAT TEE FTS- 19 HeMHI TH1 THE T STYAYd 37T TR a9 iR fifta fOragg & o i v=w
€t it 21 frmer ad * sifim A F when § cuh sgva % @Y 95 AR SEHRRE F SIS SO
Herdid # el TR 2| A9 TF S@E BT A 10 TRG AT I S el g & AR gl arear # el W
T SR W IS 9 W 8| g A TR @R e ¥ HE AT 2, A9 Th SuEE
amTfaw-a1ils @me ot 21 3@ W wIw =l ow wwite ) e et st onfie ek
Ui THE UsH I # R am aeE ok e R e 9 € Gk 1 o amiors A oo
(ferarll) 7 9 w1 31 ot o aiieht Jcd e AR @R, WY B AR Fva T Wet F Wedr ¥ 99
= gudt gEgl B i @ @ o 7w AfTaw o eghem FEem % e A off 3 @ Eise
AT o Aged § e g 21w T o st il oft om e v 21 o 9 wan B afifeat
e T B0 weT i Fivl g gidta Tl % slest iR wg-ae @relt 9g 31 erddE am weA
s 2 55 400 fafemm (40 =) =i it Aien st et 2| faza 9% 3 sAm o @ PR osm
g=-geoy (fa) 4 110 faferm smfch sen i #dt et goes shime 2 B 500 fufem (80 #ig)
A A g el @ U e | g d 8 )

Which continent is least affected by COVID-19?
(1) Asia (2) North America
(3) Australia (4) Antarctica

HH-T TS HIIS- 19 T W™ F0 TG 520 27

(1)

(3)

L

ufirm (2) soft mfEm
SRR @)

[Question ID = 2054][Question Description = Q48_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8213]
2. 2 [Optien ID = 8214]
3. 3 [Optien ID = 8215]
4. 4 [Option ID = 8216]

4)

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis, Stressing every one of the country it touches, it has the
potential to create devastating soeial, economic and political effects that will leave deep and

longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
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alongsioe the neaitn response lead DY WU, and the Liobal HUmMAanitarlan nesponge rian,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost, The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

T i GEGFIYEE 98 aUT 39 78 T T 9% 5 W 3

FIAT G FIfag- 19 HEMRT TAR W99 1 STAqE das e g iR Tyt favaag = o & wsm
a1 AN 21 fost ad % sifts B § o § ou% s % WY T ArRE HTEHEHE H DS TAT
HEIda # %l I B o1 T q@E BT U 10 TING @M A I el g% & R gl wear B gl w6
T FEEE Sy IS U TEl 2| UGY AE WEWMN WReA GHe ¥ wE frE P, UE Tk g
amiTE-aE % f 3| 2@ W UST =t W uwifae 2] o et aenfas oY iR
rdifer e W e B R e e we v B v nd B st A e e b
(Rerardl) o 3 o St ot w Tt e WeF 9 e 8, WY o 9% fava Tare wed % ueEm U we ©
@ wedl gedl ® i 3w W 2 o 7 Avesw nreE wgee FEem % W W 9 @ Sk
an=aae & Aged | fvas o wr 81 & o e ereet efen ok e ven @ 21 e 78 o o ufifeurfoE
% @A w00 v ) el i fifle wl % gew oft wng-ge @it ue 3| siaddE 3 wned @
IgHE 2 5 400 fafemm (40 =) @ it Teien s vt &) faza §=% J s o ® HRowm e
g7-ta (ifm) d 110 ffemm smieh swen F % snof) gom s 2 5 s00 fafema (80 #U3)
AT AT gREnE) SEEl P R d awd g g )

Which of the following organization has given technical lead in the UN’s socio-economic recovery plan?
(1) UNDP  (2) UNICEF
(3) UN-GHRP  (4) UNSC

=1 & @ form geon 3 UN it amifae snhis afeonfi (feadl) aismn =it 3ges vem i 27

(1)
(3

UNDP (Z2)y UNICEF
UN-GHEP (4) UNBGC

[Question ID = 2055][Question Description = Q49_GP_20NOV_S1_SHAAN]

PR e

3)

. 1 [Option ID = 8217
2 [Option ID = 8218]
. 3 [Optien ID = 8219]
. 4 [Option ID = 8220]

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis, Stressing every one of the country it touches, it has the
potential to create devastating soeial, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small

islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The

Trntaowmnatinnal T ahane Mvcanicatinn cofimeeftaos that AMD maallian dakhe aranld ha laodr Tha TATAsld

prepp

Your Personal Exams Guide



www.prepp.in

In the wake of COVID-19 which of the following organisations/establishments will have least chances of closure?

EEE e o mETa TE T EE TR S YTor ot TR e e TTEEw S wT TE oS T TmESmTIT O or  TEswaT W T T wmmsme e e p e T e e wrEmET e wme—r T1 wromww " a

Bank projects a US 3110 billion dechne in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.
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(1) Tourism industry (2) Health care centres
(3) Industrial establishments (4) Educational institutions
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. 1 [Option ID = 8221]
. 2 [Option ID = 8222]
. 3 [Option ID = 8223]
4 [Option ID = 8224]
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